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4BLER 87,890| (96, 010) 860 (940) X Mgk
! 5;% 18 7,650 70X INEE 32, 500 30X MER
3 B R 96, 010 940 X NEE
T6A AR ER 54,460 (62, 580) 520/ (600) X pnEE
2?}:’ 12 4,590 40X NE R 19, 500 190 X =
£ 3 B R 62, 580 600 X B
260 AR ER 42,490 (50, 610) 400|  (480) X pnE =
3;3;\”’ 12 3,280 30X INE R 13,930 130 x N =
£ 3 B R 50, 610 480 X B
36A AR ER 37,680 (45, 800) 350 (440) x pnE=
4;3;\”’ 12 2,550 20 % INE R 10, 830 100 % R =
£ 3 B R 45, 800 440 X B
460 AR ER 33,380 (41, 500) 310/ (390) x pnE =
6633\‘9 18 1,910 10x e 8,120 80X Bk
£ 3 B R 41,500 390 X B
61A AR ER 30,850 (38, 970) 290/ (370) x pnEE
7?}\‘9 18 1,530 10x Mg 6, 500 60 X AN Bk
£ 3 B R 38, 970 370 X NEE
76N AR ER 29,130 (37, 250) 270/ (350) | X pnEE
9633\‘9 18 1,270 10x Mg 5, 410 50X Bk
£ 3 B R 37, 250 350 X B
91A AR ER 28,570 (36, 690) 260 (340) X pnEE
10’;‘;\’ 18 1,000 10x Mg 4,640 40X ek
s 3 B R 36, 690 340 X B
106.A AR ER 27,590 (35, 710) 250/ (330) X pnEE
z%go : 2’5‘ 2l 950 9x E 4,060 40X ek
s 3 B R 35,710 330 X B
1214 AR ER 26,810 (34, 930) 250/ (330) X pnEE
Gl TS 850 Bx ME % 3,610 30X e E
1354
s 3 B R 34, 930 330 X B
136A AR ER 26,200 (34, 320) 240|  (320) x pnEE
nE g 760 7x e 3,250 30X e ®
150 A
s 3 B R 34, 320 320 X B
181 A AR R 265,270 (33, 390) 230/ (310) x pnE=
18%\ f ™ 630 6% INE R 2,700 20X LK
s 3 B R 33, 390 310 X B
181A AR ER 24,590 (32,710) 220/ (300) | x pnEE
21%\ f ™ 540 5 X g R 2,320 20X LR
s 3 B R 32,710 300 X B
21A AR ER 24,090 (32, 210) 220/ (300) | x pnEE
24%\ f ™ 470 4x ER 2,030 20 X LR
s 3 B R 32,210 300 X B
281N AR ER 23,710 (31, 830) 210/ (300) | x pnE =
27%\ f ™ 420 4x ER 1,800 10X Mg
s 3 B R 31,830 300 X B
2NA AR ER 23,400 (31, 520) 210/ (290) | x pnE =
30%\ f ™ 380 3IX ER 1,620 10X Mg
s 3 B R 31,520 290 X B
4BLER 23 150| (31, 270) 2100 (290) | X g
30&)1 1= 340 IXMER
3 B R 31,270 290 x INEE
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%
P R SRRERESENSE | |opppeasngkl)| |CRREEXENESY)
K4 EEX5D % 53 FEWHX D
MiBRES MiBRES MiBRES
mE 1 mE 1 mE 1
@ @ 3 @ ©) ©’
4ol bR+ 8 120)]| BOX EX)
15N 1£
£c | 7
3 ®m R|+ 8,120 80xn&EXR|4+]| 56, 880 560 X InE = |+ 48,760+ | 480 x inE X
133{\ 4l ER|+| (8 120)] (80X MEER)
e | 1%
=T 3 ®m R|+ 8,120 80xn&EXR|4+]| 56, 880 560 X InE = |+ 48,760+ | 480 x InE X
22{\ 4l ER|+| (8 120)] (80X nEER)
wh | 1%
=T 3 ®m R|+ 8,120 80xn&EXR|4+]| 56, 880 560 X InE = |+ 48,760+ | 480 x MnE X
32{\ 4l ER|+| (8 120)] (80X MEER)
s | 1%
=T 3 ®m R|+ 8,120 80xn&EXR|4+]| 56, 880 560 X InE = |+ 48,760+ | 480 x InE X
433{\ 4l ER|+| (8 120)] (80X MER)
on | 1%
=T 3 ®m R|+ 8,120 80xn&EXR|4+]| 56, 880 560 X InE = |+ 48,760+ | 480 x MnE X
6}3{\ 4l ER|+| (8 120)] (80X MEER)
e | 1%
=T 3 ®m R|+ 8,120 80xn&EXR|4+]| 56, 880 560 X InE = |+ 48,760+ | 480 x MnE X
733{\ 4l ER|+| (8 120)] (80X MEER)
wr | 1%
=T 3 ®m R|+ 8,120 80xn&EXR|4+]| 56, 880 560 X InE = |+ 48,760+ | 480 x InE X
9}3{\ 4l ER|+| (8 120)] (80X MEER)
105f =
=T 3 ®m R|+ 8,120 80xn&EXR|4+]| 56, 880 560 X InE = |+ 48,760+ | 480 x InE X
1064 4% ER|+| (8 120)] (80x mnE=
20/100 B3 | e mA (612001 )
iz 120 A =
=T 3 ®m R|+ 8,120 80xn&EXR|4+]| 56, 880 560 X InE = |+ 48,760+ | 480 x InE X
121\): 4l ER|+| (8 120)] (80X EXR)
13@)? =
=T 3 ®m R|+ 8,120] 80xmnE=E|+| 56, 880|+|560x INEE|+ 48,760+ | 480 x InE X
136\): 4l ER|+| (8 120)] (80X MELXR)
15?))? =
=T 3 ®m R|+ 8,120] 80xmnE=E|+| 56, 880|+|560x InEE|+ 48,760+ | 480 x InE X
151\): 4l ER|+| (8 120)] (80X MELER)
18?))? =
=T 3 ®m R|+ 8,120] 80xmnE=E|+| 56, 880|+|560x InEE|+ 48,760+ | 480 x InE X
18;\): 4l ER|+| (8 120)] (80X nELXR)
210f =
=T 3 ®m R|+ 8,120] 80xmnE=E|+| 56, 880|+|560x INEE|+ 48,760+ | 480 x InE X
21;\): 4l ER|+| (8 120)] (80X nELXR)
240f =
=T 3 ®m R|+ 8,120] 80xmnE=|+| 56, 880|+|560x INEE|+ 48,760+ | 480 x InE X
24;\): 4l ER|+| (8 120)] (80X MEER)
270f =
=T 3 ®m R|+ 8,120] 80xmnE=|+| 56, 880|+|560x INEE|+ 48,760+ | 480 x InE X
27;\): 4l ER|+| (8 120)] (80X nELXR)
300f =
=T 3 ®m R|+ 8,120] 80xmnE=|+| 56, 880|+|560x InEE|+ 48,760+ | 480 x MnE X
4 ERI+ 8,120)| (80x =
01 A R (8, 120) [ (80 MEL )
s 15
3 ®m R|+ 8,120] 80xmnE=|+| 56, 880|+|560x INEE|+ 48,760+ | 480 x InE X




F—LREEMEMNE

e EETELEME 15 - 250FAEEGICHLTHATFE DR BEEDINE
A | maxs |2E| anxs fi =
WBREE WBREE nEREE
hn#E 1 n#E 1 &I
©) @ © @ @) ® ®
154 4L ER ~ 15A
£c |18 5,780 +| 50x &= %5WXMMAﬁ'+ 320 x MR X AR A% . 640] + 30X MnExR
3 m R
16A AR ER
i - = 16A~ 25A & -
250 15 3,470 +| 30xmE=E W5WXMMAﬁ'+ 190 X N K x ME A% . 490] + 20 x fnE xR
=T 3 ® R
26 AR ER
i - = 26 A~ 35N & -
BN 15 2,480 +| 20xmE== Bﬂmxmmkﬁ_+ 130 X INE R x MEE A% . 000] + 20 x finE xR
£T 3 ® R
36A AR ER
i - _ _ 36A~ 45N & -
5N 15 + mﬂmXMMAﬁ'+ 100 x fin& = x B A ,730] + 10X =
=T 3 ® R
46 AR ER
i - _ _ 46N~ 60N & -
G0N 15 + &1NXMMAﬁ'+ 80 X INE R X ME A% ,300] + 10X =
=T 3 ® R
614 AR ER
i - _ _ 1A~ 75N & -
750 15 + &5mxmmxﬁ'+ 60 X INE R X ME A% , 040 + 10X =
=T 3 ® R
76 AR ER
i - _ _ 76 A~ 90N & -
N 15 + 54WXMMAﬁ'+ 50 X INE R X ME A% 860| + 8 ME R
=T 3 ® R
91A AR ER
i - _ _ 91 A~ 1054 & -
1054 | 18 + 46mXMMAﬁ'+ 40X INE R X ME A% 740| + TX R
£T 3 ®m R
1064 4FULER
Z%QO o s —|+ - 1%%&;%&Aﬁ-+ 40 X IEE % X MEA KK 650 +|  6xmmE
£T 3 ® R '
1214 4EBER
i - = 121 A~ 135A & -
13540 | 15 640 +| 6xfnEkx 3ﬁWXMMAﬁ'+ 30 x MR X NS A% 570| + 5X xR
£T 3 ®m R
1364 4EBER
i - = 136 A~ 150A & -
B0 | 15 570 +| bGxfn&Ek 32%xmmxﬁ'+ 30 x ME R X NS A% 520| + 5X MR
£T 3 ® R
1510 AR R
i - = 151 A~ 180A & -
1800 | 15 480 +| 4xpnEE ZJ%XMMAﬁ_+ 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
1814 AR ER
i - = 181 A~ 210A & -
a0 | 18 40[+|  4xpnEx 23%XMMAﬁ'+ 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
211A AR ER
i - = 211 A~ 2400 -
sson | 1B 360 +| 3xinEEx ZﬂmXMMAﬁ'+ 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
24 A AR ER
i - = 201 A~ 270N -
a0 | 18 320 +| 3xfnEk 13mxmmxﬁ'+ 10 X INEL R x MEA %K 500| + 5X MR
£T 3 ® R
27 A AmULER
i - = 271 A~ 300A -
a0 | 18 280 +| 2xfnEx 16®XMMAﬁ'+ 10 X INELR x MEEA %K 500| + 5X MR
=T 3 ® R
4L ER
301N - = 301 A~ =
Sr | 1B s s o 260 +| 2xfnEk 1ANXMMAﬁ'+ 10 X INEL R x MEA %K 500| + 5X R




RRRENE (ERNFAE)

RERREME (SMEHRAD

A | maxs |2E| anxs
WBEHREFNE I MBRESFME |
©) @ ©) @ @
% bR
15N 12 4mALLE 2,730 20 480 4
=T = . XBM Y =i A% XBY = Y M X NER X BELYREEHK XBEL-YREERXINEE
160 UL R
mn 12 tRALE 1,630 10 290 2
25;\ - 3 B R XBHY REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T 23 T
260 UL R
mn 12 4RAL 1,170 10 200 2
35;\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDES Ak S IEE: S
T i T
36A UL R
mn 12 tRALE 910 9 160 1
45;\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVUES Ak I E: S
T 23 T
464 5l E R
mn 12 4RAL 680 6 120 1
60i)\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDES A I E: S
T i T
61A UL R
mn 12 tRALE 570 5 100 1
75;\ - 3 B R XBH Y REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
760 UL R
mn 12 tRALE 500 5 80 1
90i)\ - 3 B R XBHY REEH xEH Y ERER K X NEE XBEH=YREEK RS EEVDUES Ak YIS
T i T
1N UL R
min 12 tRALE 440 4 80 1
10;)\ - 3 m m XBHY REEH xEH Y ERER K X NEE XBEH=YREEK RS EEVDUES Ak YIS
T i T
106.A L5 LR
20/100 ) 12 tRALE 410 4 70 1
3 12;)\ - 3 m m XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
1214 L5 LR
min 12 tRALE 370 3 60 1
13;)\ - 3 m m XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
136.4 L5 LR
min 12 tRALE 350 3 60 1
15;)\ - 3 m m XBHY REEH B YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
1514 L5 LR
min 12 tRALE 300 3 50 1
18;)\ - 3 m m XBH Y REEH X YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
1814 L5 LR
) 12 tRALE 270 2 40 1
21;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
211A L5 LR
mn 12 tRALE 250 2 40 1
24;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T i T
2414 L5 LR
) 12 tRALE 220 2 40 1
27;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T i T
271A L5 LR
mn 12 tRALE 200 2 30 1
30;)\ - 3 m m XBHY REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T 23 T
% bR
KUPN 12 ARALE 180 1 30 1
uE [ 7 XBHY REEH B YRR X NEE XBEHYREEK RS EEVDUES Ak I E: S

3 ® R




IBREAFTOFEL

SEREC A 2 BB B TEYFETHED
109 | capn 22| cpmpy | |uon. SF T RUMHERILT
= Plms | IR Bt tont | | renomsssnens LRSS
X3A 5 OB I= -
@ @ © @ ® @
AR ER
A e mA ~ 15A 235 x £ ADKE (7, 500
T 27,330 =] +70x Mg &
T ESiA=E: N )
16A 4BUER
R B 16 A~ 25A 235 x £ ADKE (4,500
2BA = 16, 800 A% +40 % M K)
=T 3 ®m R
28 4EUER
R B 26A~ 35N 235 x £ ADKE (3,210
3BA = 12,280 A% +30 % M K)
£T 3 ®m R
36A 4REUER
R B 36A~ 45N 235 x £ ADKE (2,500
45 = 9,770 A% +20 X )
=T 3 ®m R
46A 4EUER
R B 46 A~ 60N 235 x £ ADKE (1,870
60A = 7,500 A% +10x g s)
=T 3 ®m R
61A 4REUER
R B 61 A~ 75N 235 x £ ADKE (1,500
75 = 6,130 A% +10x g s)
=T 3 ® R
78A 4REUER
R B 76 A~ 90N 235 x £ ADKE (1, 250
90A = 5, 220 EHEA% +10x g s)
=T 3 ® R
gaA 4REUER
I B 91 A~ 1054 235 x £ ADKE (1,070
105 = 4, 660 ES A=k +10x IN5ER)
£T 3 ® R
1064 4REBER
20/100 B3 | e B 106 A~ 120K 235 x £ ADKE (930
Hish 1208 | 7 4,250 ES A=k +9x MEK)
£T 3 ® R
1214 4REBER
AT B 121 A~ 135X 235 x £ ADKE (830
135 = 3,920 SR % +8X NERK)
£T 3 ® R
1364 4REBER
I B 136 A~ 150X 235 x £ ADKE (750
150 A = 3, 660 SEHE R % +8X NEERK)
£T 3 ® R
1614 4REBER
I B 151 A~ 180X 235 x £ ADKE (620
1804 = 3,160 SEHE R % +6X INERK)
£T 3 ® R
1814 4REBER
R B 181 A~ 210X 235 x £ ADKE (530
210A = 2,810 SEHE R % +5X INEER)
£T 3 ® R
214 4REBER
I B 211 A~ 240 235 x £ ADKE (460
240N = 2, 540 SEHE R % +5X INEER)
£T 3 ® R
2414 4REBER
R B 241 A~ 270N 235 x £ ADKE 410
270N = 2, 440 SEHE R % +4x INER)
£T 3 ® R
A 4REBER
I B 271 A~ 300A 235 x £ ADKE (370
300A = 2, 360 SEHE B % +4x INER)
=T 3 ® R
AR
WA | g B 301 A~ 235 x £ ADKE (340
sk |7 2, 150 SEHE R % +3X INER)

3 ® R




ERIRBEREE RBEERHOND e it 1 A o
S T TESHA mAAEEALsgs | |EREERNCEET S8
K4 TEXD % 53 FEWHX D
[©) @) [©) @
A )
1A | g 4mALE (32, 500 (24, 520
£c | 7 s » R +320 X fnEK) X A +240 X INER) x A%
164 A )
R 4RmELE (19, 500 (14,710
25N = +190 X fnE &) X A +140 X MNER) x A%
£ 3 ® R
26N A )
R 4RmELE (13,930 (10,510
RPN = +130 X fnER) X A +100x MNER) x A%
£ 3 ® R
36A A )
R 4RmELE (10, 830 (8,170
45N = +100 X fnEK) X A# +80 % M) X A%
£ 3 ® R
46N A )
A 4mALE (8,120 (6, 130
60N = +80 X fnEK) X A +60x MNER) x A%
£ 3 ® R
61A A )
A 4mALE (6, 500 (4, 900
75N = +60 X fnER) X A +A40X INER) x A%
£ 3 ® R
76N A )
A 4mALE (5, 410 (4, 080
A = +50 X fnER) X A +A40X INER) x A%
£ 3 ® R
91 A A )
Ll R 4mALE (4, 640 (3,500
1054 = +40 X fnER) X A +30 X MNER) x A%
£ 3 ® R
106 A 55l FIR ~ %
20/100 N T 4mALE (4, 060 (3,060 © (&)
iz 1200 +40x INEE) X A% +30 X LK) X A%
s 3 & =/ = 5= X B E 8 B R
121N =Ll IR
Ll 4mALE (3,610 (2,720
135A = +30 X fnER) X A +20 X MNER) x A%
£ 3 ® R
136 A =Ll IR
R 4mALE (3, 250 (2, 450
150 A = +30 X fnER) X A +20 X MNER) x A%
£ 3 ® R
15T A AN
R 4mALE (2,700 (2, 040
180A = +20 X fnER) X A +20 X MNER) x A%
£ 3 ® R
181 A =Ll IR
L 4mALE (2, 320 (1, 750
210N = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
211N AN
A 4mALE (2,030 (1,530
240N = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
241N AN
L 4mALE (1, 800 (1, 360
270X = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
YADN AN
R 4mALE (1, 620 (1, 220
300.A = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
A )
A | 42 4RmELE (1,470 | a 1o
uE |7 +10x INEE) X A% +10X INER) X A%

3 ® R
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3 2BE EAR5 Hf s > N
ﬂéz\z EERS ;,f\ FEPHRL 36 AL ES00A LT (B2 (= M
M EL MiBRES
GE) G¥) meE 1 mE 1
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4BLER 85,500| (93, 460) 830 (910) X mnE=X
15;% 18 7,380 70X INEE 31,510 30X MER
3 B R 93, 460 910 X INEE
T6A AR ER 53,080 (60, 950) 510/ (590) X pnE =
2?}:’ 12 4,430 40X NE R 18,910 180 x N =
£ 3 B R 60, 950 590 X B
260 AR ER 41,440 (49, 310) 390 (470) x pnEE
3;3;\”’ 12 3,160 30X INE R 13, 500 130 x N =
£ 3 B R 49,310 470 X B
36A AR ER 36,740 (44, 610) 350/ (420) x pnE®
4;3;\”’ 12 2, 460 20 % INE R 10, 500 100 % R =
£ 3 B R 44,610 420 X B
460 AR ER 32,560 (40, 430) 300/ (380) x pnEE
6633\‘9 18 1, 840 10x e 7,870 70x ek
£ 3 B R 40, 430 380 X B
61A AR ER 30,100 (37, 970) 280 (360) X pnEE
7?}\‘9 18 1,470 10x Mg 6, 300 60 X AN Bk
£ 3 B R 37,970 360 X NEE
76N AR ER 28,420 (36, 290) 260 (340) X pnEE
9633\‘9 18 1,230 10x Mg 5, 250 50X Bk
£ 3 B R 36, 290 340 X B
91A AR ER 27,890 (35, 760) 260 (340) X pnEE
mfé\f ™ 1, 050 10x g R 4,500 40X R
s 3 B R 35, 760 340 X B
106.A AR ER 26,930 (34, 800) 250/ (330) X pnEE
! %szoo : 2’5‘ 2l 920 9x E 3,930 30X e ®
s 3 B R 34, 800 330 X B
1214 AR ER 26,160 (34, 030) 240/ (320) x pnEE
13%;\ f ™ 820 8 X E R 3,500 30X MR
s 3 B R 34, 030 320 X B
136A AR ER 265,570 (33, 440) 230/ (310) x pnE=
15%\ f ™ 730 7x g R 3,150 30X MR
s 3 B R 33, 440 310 X B
181 A AR R 24,660 (32, 530) 220/ (300) | x pnE =
G TS 610 6x E 2,620 20 X B %
180A
s 3 B R 32,530 300 X B
181A AR ER 24,000 (31, 870) 220/ (300) | x pnEE
ne g 520 5x E 2, 250 20X B
210 A
s 3 B R 31,870 300 X B
21A AR ER 23,520 (31, 390) 210/ (290) | x pnE =
24%\ f ™ 460 4x ER 1,960 10X Mg
s 3 B R 31, 390 290 X B
281N AR ER 23,140 (31,010) 210/ (290) | x pnE =
27%\)»\3 ™ 410 4x ER 1,750 10X Mg
s 3 B R 31,010 290 X B
2NA AR ER 22,840 (30, 710) 210/ (280) x pnE®
30%\ f ™ 360 3IX ER 1,570 10X Mg
s 3 B R 30, 710 280 X B
4BLER 22,590| (30, 460) 200 (280) X Mg
30&)1 1= 330 IXMER
3 B R 30, 460 280 x INEE




# 3 B R RS AR i 3 RIS A
%
P R SRRERESENSE | |opppeasngkl)| |CRREEXENESY)
K4 EEX5D % 53 FEWHX D
MiBRES MiBRES MiBRES
mE 1 mE 1 mE 1
@ @ 3 @ ©) ©’
4ol R+ (7, 870)| (70X mEX)
L R
3 ®m R|+ 7,870] 70xn&EXR([4]| 55 150 550 X InE = |+ 47,280+ | 470 x InE X
133{\ 4l LRI+ (7870)] (70X MER)
e | 1%
=T 3 ®m R|+ 7,870] 70xn&EXR([4+]| 55 150 550 X InE = |+ 47,280+ | 470 x inE X
22{\ 4l LRI+ (7870)] (70X MER)
wh | 1%
=T 3 ®m R|+ 7,870] 70xn&EXR([4]| 55 150 550 X InE = |+ 47,280+ | 470 x inE X
32{\ 4l LRI+ (7870)] (70X MER)
s | 1%
=T 3 ®m R|+ 7,870] 70xn&EXR([4+]| 55 150 550 X InE = |+ 47,280+ | 470 x inE X
433{\ 4l LRI+ (7870)] (70X MER)
on | 1%
=T 3 ®m R|+ 7,870] 70xn&EXR([4]| 55 150 550 X InE = |+ 47,280+ | 470 x inE X
6}3{\ 4l LRI+ (7870)] (70X MER)
e | 1%
=T 3 ®m R|+ 7,870] 70xn&EXR([4]| 55 150 550 X InE = |+ 47,280+ | 470 x inE X
733{\ 4l LRI+ (7870)] (70X MER)
wr | 1%
=T 3 ®m R|+ 7,870] 70xn&EXR([4]| 55 150 550 X InE = |+ 47,280+ | 470 x inE X
9}3{\ 4l LRI+ (7870)] (70X MER)
105f =
=T 3 ®m R|+ 7,870] 70xn&EXR([4]| 55 150 550 X InE = |+ 47,280+ | 470 x inE X
1064 4% ER|+| (7,870)| (70x g =
16/100 B3 | e mA (7870 € )
iz 120 A =
=T 3 ®m R|+ 7,870] 70xn&EXR([4]| 55 150 550 X InE = |+ 47,280+ | 470 x inE X
121\): 4l LRI+ (7870)] (70X MER)
13@)? =
=T 3 ®m R|+ 7,870 70xmnE=E|+| 55, 1650|4550 x InEE|+ 47,280+ | 470 x inE X
136\): 4l ER|+| (7 870)] (70X MER)
15?))? =
=T 3 ®m R|+ 7,870 70xmnE=E|+| 55, 1650|4550 x InEE|+ 47,280+ | 470 x inE X
151\): 4l LRI+ (7870)] (70X MER)
18?))? =
=T 3 ®m R|+ 7,870 70xmnE=E|+| 55, 1650|4550 x InEE|+ 47,280+ | 470 x inE X
18;\): 4l LRI+ (7870)] (70X MER)
210f =
=T 3 ®m R|+ 7,870 70xmnE=E|+| 55, 1650|4550 x InEE|+ 47,280+ | 470 x inE X
21;\): 4l LRI+ (7870)] (70X MER)
240f =
=T 3 ®m R|+ 7,870 70xmnE=E|+| 55, 1650|4550 x InEE|+ 47,280+ | 470 x inE X
24;\): 4l LRI+ (7870)] (70X MER)
270f =
=T 3 ®m R|+ 7,870 70xmnE=E|+| 55, 1650|4550 x InEE|+ 47,280+ | 470 x inE X
27;\): 4l LRI+ (7870)] (70X MER)
300f =
=T 3 ®m R|+ 7,870 70xmnE=E|+| 55, 1650|4550 x InEE|+ 47,280+ | 470 x inE X
4 ERI+ 7,870)| (70 x =
01 A R (7, 870) [ (70 x ME =)
s 15
3 ®m R|+ 7,870 70xmnE=E|+| 55, 1650|4550 x InEE|+ 47,280+ | 470 x inE X




F—LREEMEMNE

e EETELEME 15 - 250FAEEGICHLTHATFE DR BEEDINE
A | maxs |2E| anxs fi =
WBREE WBREE nEREE
hn#E 1 n#E 1 &I
©) @ © @ @) ® ®
154 4L ER ~ 15A
£c |18 5,780 +| 50x &= M5WXMMAﬁ'+ 310 x MR X L A% . 640] + 30X MnExR
3 m R
16A AR ER
i - = 16A~ 25A & -
250 15 3,470 +| 30xmE=E mﬂWXMMAﬁ’* 180 X INEL K x MEE A% . 490] + 20 x fnE xR
=T 3 ® R
26 AR ER
i - = 26 A~ 35N & -
BN 15 2,480 +| 20xmE== mﬁ%XMMAﬁ’* 130 X INE R x MEE A% . 000] + 20 x finE xR
£T 3 ® R
36A AR ER
i - _ _ 36A~ 45N & -
5N 15 + mﬁ%XMMAﬁ'+ 100 x fin& = x B A ,730] + 10X =
=T 3 ® R
46 AR ER
i - _ _ 46N~ 60N & -
G0N 15 + ZSWXMMAﬁ_+ 70X INE R X ME A% ,300] + 10X =
=T 3 ® R
614 AR ER
i - _ _ 1A~ 75N & -
750 15 + &3WXMMAﬁ'+ 60 X INE R X ME A% , 040 + 10X =
=T 3 ® R
76 AR ER
i - _ _ 76 A~ 90N & -
N 15 + 5ZWXMMAﬁ'+ 50 X INE R X ME A% 860| + 8 ME R
=T 3 ® R
91A AR ER
i - _ _ 91 A~ 1054 & -
1054 | 18 + 4BWXMMAﬁ'+ 40X INE R X ME A% 740| + TX R
£T 3 ®m R
1064 4FULER
‘%go o s —|+ - 1%@%;%&Aﬁ-+ 30 X JEE % X MEA K 650 +|  6xmmE
£T 3 ® R '
1214 4EBER
i - = 121 A~ 135A & -
13540 | 15 640 +| 6xfnEkx 35WXMMAﬁ'+ 30 x MR X NS A% 570| + 5X xR
£T 3 ®m R
1364 4EBER
i - = 136 A~ 150A & -
B0 | 15 570 +| bGxfn&Ek 3J%xmmxﬁ'+ 30 x ME R X NS A% 520| + 5X MR
£T 3 ® R
1510 AR R
i - = 151 A~ 180A & -
1800 | 15 480 +| 4xpnEE ZﬁNXMMAﬁ'+ 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
1814 AR ER
i - = 181 A~ 210A & -
a0 | 18 40[+|  4xpnEx 22%xmmxﬁ'+ 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
211A AR ER
i - = 211 A~ 2400 -
sson | 1B 360 +| 3xinEEx 1HWXMMAﬁ'+ 10 X INELR x MEEA %K 500| + 5X MR
£T 3 ® R
24 A AR ER
i - = 201 A~ 270N -
a0 | 18 320 +| 3xfnEk 1J%xmmxﬁ'+ 10 X INEL R x MEA %K 500| + 5X MR
£T 3 ® R
27 A AmULER
i - = 271 A~ 300A -
a0 | 18 280 +| 2xfnEx 15NXMMAﬁ'+ 10 X INELR x MEEA %K 500| + 5X MR
=T 3 ® R
4L ER
301N - = 301 A~ =
Sr | 1B s s o 260 +| 2xfnEk 1A%Xmmkﬁ_+ 10 X INEL R x MEA %K 500| + 5X R




RRRENE (ERNFAE)

RERREME (SMEHRAD

A | maxs |2E| anxs
WBEHREFNE I MBRESFME |
©) @ ©) @ @
% bR
15N 12 4mALLE 2,730 20 480 4
=T = . XBM Y =i A% XBY = Y M X NER X BELYREEHK XBEL-YREERXINEE
160 UL R
mn 12 tRALE 1,630 10 290 2
25;\ - 3 B R XBHY REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T 23 T
260 UL R
mn 12 4RAL 1,170 10 200 2
35;\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDES Ak S IEE: S
T i T
36A UL R
mn 12 tRALE 910 9 160 1
45;\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVUES Ak I E: S
T 23 T
464 5l E R
mn 12 4RAL 680 6 120 1
60i)\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDES A I E: S
T i T
61A UL R
mn 12 tRALE 570 5 100 1
75;\ - 3 B R XBH Y REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
760 UL R
mn 12 tRALE 500 5 80 1
90i)\ - 3 B R XBHY REEH xEH Y ERER K X NEE XBEH=YREEK RS EEVDUES Ak YIS
T i T
1N UL R
min 12 tRALE 440 4 80 1
10;)\ - 3 m m XBHY REEH xEH Y ERER K X NEE XBEH=YREEK RS EEVDUES Ak YIS
T i T
106.A L5 LR
16/100 ) 12 tRALE 410 4 70 1
3 12;)\ - 3 m m XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
1214 L5 LR
min 12 tRALE 370 3 60 1
13;)\ - 3 m m XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
136.4 L5 LR
min 12 tRALE 350 3 60 1
15;)\ - 3 m m XBHY REEH B YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
1514 L5 LR
min 12 tRALE 300 3 50 1
18;)\ - 3 m m XBH Y REEH X YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
1814 L5 LR
) 12 tRALE 270 2 40 1
21;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
211A L5 LR
mn 12 tRALE 250 2 40 1
24;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T i T
2414 L5 LR
) 12 tRALE 220 2 40 1
27;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T i T
271A L5 LR
mn 12 tRALE 200 2 30 1
30;)\ - 3 m m XBHY REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T 23 T
% bR
KUPN 12 ARALE 180 1 30 1
uE [ 7 XBHY REEH B YRR X NEE XBEHYREEK RS EEVDUES Ak I E: S

3 ® R




IBREAFTOFEL

SEREC A 2 BB B TEYFETHED
109 | capn 22| cpmpy | |uon. SF T RUMHERILT
= Plms | IR Bt tont | | renomsssnens LRSS
X3A 5 OB I= -
@ @ © @ ® @
AR ER
A e mA ~ 15A 235 x £ ADKE (7, 500
T 27,330 =] +70x Mg &
T ESiA=E: N )
16A 4BUER
R B 16 A~ 25A 235 x £ ADKE (4,500
2BA = 16, 800 A% +40 % M K)
=T 3 ®m R
28 4EUER
R B 26A~ 35N 235 x £ ADKE (3,210
3BA = 12,280 A% +30 % M K)
£T 3 ®m R
36A 4REUER
R B 36A~ 45N 235 x £ ADKE (2,500
45 = 9,770 A% +20 X )
=T 3 ®m R
46A 4EUER
R B 46 A~ 60N 235 x £ ADKE (1,870
60A = 7,500 A% +10x g s)
=T 3 ®m R
61A 4REUER
R B 61 A~ 75N 235 x £ ADKE (1,500
75 = 6,130 A% +10x g s)
=T 3 ® R
78A 4REUER
R B 76 A~ 90N 235 x £ ADKE (1, 250
90A = 5, 220 EHEA% +10x g s)
=T 3 ® R
gaA 4REUER
I B 91 A~ 1054 235 x £ ADKE (1,070
105 = 4, 660 ES A=k +10x IN5ER)
£T 3 ® R
1064 4REBER
16/100 B3 | e B 106 A~ 120K 235 x £ ADKE (930
Hish 1208 | 7 4,250 ES A=k +9x MEK)
£T 3 ® R
1214 4REBER
AT B 121 A~ 135X 235 x £ ADKE (830
135 = 3,920 SR % +8X NERK)
£T 3 ® R
1364 4REBER
I B 136 A~ 150X 235 x £ ADKE (750
150 A = 3, 660 SEHE R % +8X NEERK)
£T 3 ® R
1614 4REBER
I B 151 A~ 180X 235 x £ ADKE (620
1804 = 3,160 SEHE R % +6X INERK)
£T 3 ® R
1814 4REBER
R B 181 A~ 210X 235 x £ ADKE (530
210A = 2,810 SEHE R % +5X INEER)
£T 3 ® R
214 4REBER
I B 211 A~ 240 235 x £ ADKE (460
240N = 2, 540 SEHE R % +5X INEER)
£T 3 ® R
2414 4REBER
R B 241 A~ 270N 235 x £ ADKE 410
270N = 2, 440 SEHE R % +4x INER)
£T 3 ® R
A 4REBER
I B 271 A~ 300A 235 x £ ADKE (370
300A = 2, 360 SEHE B % +4x INER)
=T 3 ® R
AR
WA | g B 301 A~ 235 x £ ADKE (340
sk |7 2, 150 SEHE R % +3X INER)

3 ® R




ERIRBEREE RBEERHOND e it 1 A o
S T TESHA mAAEEALsgs | |EREERNCEET S8
K4 TEXD % 53 FEWHX D
[©) @) [©) @
A )
1A | g 4mALE (31,510 (23,530
£c | 7 +310 X fnEK) X A +230 X MNER) x A%
3 m R
164 A )
R 4RmELE (18,910 (14,120
25N = +180 X fnEK) X A +140 X MNER) x A%
£ 3 ® R
26N A )
R 4RmELE (13,500 (10, 080
RPN = +130 X fnER) X A +100x MNER) x A%
£ 3 ® R
36A A )
R 4RmELE (10, 500 (7, 840
45N = +100 X fnEK) X A# +70 % INEER) X A
£ 3 ® R
46N A )
A 4mALE (7, 870 (5, 880
60N = +70 X fnER) X A +50 X MNER) x A%
£ 3 ® R
61A A )
A 4mALE (6, 300 (4,700
75N = +60 X fnER) X A +A40X INER) x A%
£ 3 ® R
76N A )
A 4mALE (5, 250 (3,920
A = +50 X fnER) X A +30x MEEK) x A
£ 3 ® R
91 A A )
Ll R 4mALE (4, 500 (3, 360
1054 = +40 X fnER) X A +30 X MNER) x A%
£ 3 ® R
106 A 55l FIR ~ %
16/100 N T 4mALE (3,940 (2,940 © (&)
iz 1200 +30 X INEE) X A% +20 X INEE) X A%
s 3 & =/ = 5= X B E 8 B R
121N =Ll IR
Ll 4mALE (3,500 (2,610
135A = +30 X fnER) X A +20 X MNER) x A%
£ 3 ® R
136 A =Ll IR
R 4mALE (3, 150 (2, 350
150 A = +30 X fnER) X A +20 X MNER) x A%
£ 3 ® R
15T A AN
R 4mALE (2, 620 (1, 960
180A = +20 X fnER) X A +20 X MNER) x A%
£ 3 ® R
181 A =Ll IR
L 4mALE (2, 250 (1, 680
210N = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
211N AN
A 4mALE (1,970 (1, 470
240N = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
241N AN
L 4mALE (1, 750 (1, 300
270X = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
YADN AN
R 4mALE (1,570 (1,170
300.A = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
A )
A | 42 4RmELE (1,430 _| @070
uE |7 +10x INEE) X A% +10X INER) X A%

3 ® R




WBRESME |

BER - HEREREME

SRR R B IS AN E
XI5 285 0FAEADET A

3 2BE EAR5 Hf s > N
ﬂéz\z EERS ;,f\ FEPHRL 36 AL ES00A LT (B2 (= M
M EL MiBRES
GE) G¥) meE 1 mE 1
[©) @) [©) @ ® ® @
4BLER 85,010 (92, 820) 830 (910) X mnE=X
15;% 18 7,310 70X INEE 31, 260 30X MER
3 B R 92, 820 910 X INEE
T6A AR ER 52,740 (60, 550) 510/ (580) X pnE®
2?}:’ 12 4,390 40X NE R 18, 760 180 x N =
£ 3 B R 60, 550 580 X B
260 AR ER 41,170 (48, 980) 390 (470) x pnEE
3;3;\”’ 12 3,130 30X INE R 13, 400 130 x N =
£ 3 B R 48, 980 470 X B
36A AR ER 36,510 (44, 320) 340)  (420) x pnEX
4;3;\”’ 12 2,430 20 % INE R 10, 420 100 % R =
£ 3 B R 44, 320 420 X B
460 AR ER 32,360 (40, 170) 300/ (380) x pnEE
6633\‘9 18 1,820 10x e 7,810 70x ek
£ 3 B R 40,170 380 X B
61A AR ER 29,910 (37, 720) 280 (360) X pnEE
7?}\‘9 18 1, 460 10x Mg 6, 250 60 X AN Bk
£ 3 B R 37,720 360 X NEE
76N AR ER 28,240 (36, 050) 260 (340) X pnEE
9633\‘9 18 1,210 10x Mg 5,210 50X Bk
£ 3 B R 36, 050 340 X B
91A AR ER 27,720 (35, 530) 260 (330) x pnEE
10’;‘;\’ 18 1, 040 10x Mg 4, 460 40X ek
s 3 B R 35, 530 330 X B
106.A AR ER 26,770 (34, 580) 250/ (320) X pnEE
1%1&00 12’5‘;\’ 18 910 9x E 3,900 30X e ®
s 3 B R 34, 580 320 X B
1214 AR ER 26,000 (33, 810) 240/ (320) x pnEE
Gl TS 810 Bx ME % 3,470 30X e E
1354
s 3 B R 33,810 320 X B
136A AR ER 26,420 (33, 230) 230/ (310) x pnE=
15%\ f ™ 730 7x g R 3,120 30X MR
s 3 B R 33, 230 310 X B
181 A AR R 24,510 (32, 320) 220/ (300) | x pnE =
18%\ f ™ 600 6% INE R 2, 600 20X LK
s 3 B R 32, 320 300 X B
181A AR ER 23,850 (31, 660) 220/ (290) X pnEE
ne g 520 5x E 2,230 20X B
210 A
s 3 B R 31, 660 290 X B
21A AR ER 23,370 (31, 180) 210/ (290) | x pnE =
24%\ f ™ 450 4x ER 1,950 10X Mg
s 3 B R 31,180 290 X B
281N AR ER 23,000 (30, 810) 210/ (290) | x pnE =
27%\ f ™ 400 4x ER 1,730 10X Mg
s 3 B R 30, 810 290 X B
2NA AR ER 22,700 (30, 510) 2000 (280) X pnEE
30%\ f ™ 360 3IX ER 1,560 10X Mg
s 3 B R 30,510 280 X B
4BLER 22,450| (30, 260) 200 (280) X Mg
30&)1 1= 330 IXMER
3 B R 30, 260 280 x INEE




# 3 B R RS AR i 3 RIS A
%
P R SRRERESENSE | |opppeasngkl)| |CRREEXENESY)
K4 EEX5D % 53 FEWHX D
MiBRES MiBRES MiBRES
mE 1 mE 1 mE 1
@ @ 3 @ ©) ©’
4o ER|+| (7 810)| (70X mER)
15N 1£
£c | 7
3 ®m R|+ 7,810 70xnEXR(+]| 54,720 540 X INE X |+ 46, 910|+ | 460 x INE X
133{\ 4l LRI+ (7810)] (70X MER)
e | 1%
=T 3 ®m R|+ 7,810 70xmnEXR(4+]| 54,720 540 X INE X |+ 46, 910+ | 460 X INE X
22{\ 4l LRI+ (7 810)] (70X MER)
wh | 1%
=T 3 ®m R|+ 7,810 70xnEXR(4+]| 54,720 540 X INE X |+ 46, 910+ | 460 X INE X
32{\ 4l LRI+ (7810)] (70X MER)
s | 1%
=T 3 ®m R|+ 7,810 70xmnEXR(4+]| 54,720 540 X INE X |+ 46, 910+ | 460 X INE X
433{\ 4l LRI+ (7 810)] (70X MER)
on | 1%
=T 3 ®m R|+ 7,810 70xnEXR(+]| 54,720 540 X INE X |+ 46, 910+ | 460 X INE X
6}3{\ 4l LRI+ (7810)] (70X MER)
e | 1%
=T 3 ®m R|+ 7,810 70xnEXR(4+]| 54,720 540 X INE X |+ 46, 910+ | 460 X INE X
733{\ 4l LRI+ (7810)] (70X MER)
wr | 1%
=T 3 ®m R|+ 7,810 70xnEXR(4+]| 54,720 540 X INE X |+ 46, 910+ | 460 X INE X
9}3{\ 4l LRI+ (7810)] (70X MER)
105f =
=T 3 ®m R|+ 7,810 70xnEXR(4+]| 54,720 540 X INE X |+ 46, 910+ | 460 X INE X
1064 4% ER|+| (7,810 (70x mE=
15/100 B3 | e mA 7810 € )
iz 120 A =
=T 3 ®m R|+ 7,810 70xnEXR(+]| 54,720 540 X INE X |+ 46, 910+ | 460 X INE X
121\): 4l LRI+ (7810)] (70X MER)
13@)? =
=T 3 ®m R|+ 7,810 70xmnE=E|+| 54, 720|+ | 540 x InE R |+ 46, 910+ | 460 X INE X
136\): 4l LRI+ (7810)] (70X MER)
15?))? =
=T 3 ®m R|+ 7,810 70xmnE=E|+| 54, 720|+ | 540 x InE R+ 46, 910+ | 460 X INE X
151\): 4l LRI+ (7810)] (70X MER)
18?))? =
=T 3 ®m R|+ 7,810 70xmnE=E|+| 54, 720|+ | 540 x InE R |+ 46, 910+ | 460 X INE X
18;\): 4l LRI+ (7810)] (70X MER)
210f =
=T 3 ®m R|+ 7,810 70xmnE=E|+| 54, 720|+ | 540 x InE R |+ 46, 910+ | 460 X INE X
21;\): 4l LRI+ (7810)] (70X MER)
240f =
=T 3 ®m R|+ 7,810 70xmnE=E|+| 54, 720|+ | 540 x InE R |+ 46, 910+ | 460 X INE X
24;\): 4l LRI+ (7810)] (70X MER)
270f =
=T 3 ®m R|+ 7,810 70xmnE=E|+| 54, 720|+ | 540 x InE R |+ 46, 910+ | 460 X INE X
27;\): 4l LRI+ (7810)] (70X MER)
300f =
=T 3 ®m R|+ 7,810 70xmnE=E|+| 54, 720|+ | 540 x InE R |+ 46, 910+ | 460 X INE X
4 ERI+ 7,810)| (70x =
01 A R (7, 810) [ (70 Mg =)
s 15
3 ®m R|+ 7,810 70xmnE=E|+| 54, 720|+ | 540 x InE X |+ 46, 910|+ | 460 X INE X




F—LREEMEMNE

e EETELEME 15 - 250FAEEGICHLTHATFE DR BEEDINE
A | maxs |2E| anxs fi =
WBREE WBREE nEREE
hn#E 1 n#E 1 &I
©) @ © @ @) ® ®
154 4L ER ~ 15A
£c |18 5,780 +| 50x &= MJWXMMAﬁ'+ 310 x MR X L A% . 640] + 30X MnExR
3 m R
16A AR ER
i - = 16A~ 25A & -
250 15 3,470 +| 30xmE=E BJ%XMMAﬁ_+ 180 X INEL K x MEE A% . 490] + 20 x fnE xR
=T 3 ® R
26 AR ER
i - = 26 A~ 35N & -
BN 15 2,480 +| 20xmE== MAWXMMAﬁ'+ 130 X INE R x MEE A% . 000] + 20 x finE xR
£T 3 ® R
36A AR ER
i - _ _ 36A~ 45N & -
5N 15 + mA%XMMAﬁ'+ 100 x fin& = x B A ,730] + 10X =
=T 3 ® R
46 AR ER
i - _ _ 46N~ 60N & -
G0N 15 + ZSWXMMAﬁ_+ 70X INE R X ME A% ,300] + 10X =
=T 3 ® R
614 AR ER
i - _ _ 1A~ 75N & -
750 15 + &zmxmmxﬁ'+ 60 X INE R X ME A% , 040 + 10X =
=T 3 ® R
76 AR ER
i - _ _ 76 A~ 90N & -
N 15 + 5ZWXMMAﬁ'+ 50 X INE R X ME A% 860| + 8 ME R
=T 3 ® R
91A AR ER
i - _ _ 91 A~ 1054 & -
1054 | 18 + 44WXMMAﬁ'+ 40X INE R X ME A% 740| + TX R
£T 3 ®m R
1064 4FULER
‘%go o s —|+ - 1%@&;%&Aﬁ-+ 30 X JEE % X MEA K 650 +|  6xmmE
£T 3 ® R '
1214 4EBER
i - = 121 A~ 135A & -
13540 | 15 640 +| 6xfnEkx 3ANXMMAﬁ'+ 30 x MR X NS A% 570| + 5X xR
£T 3 ®m R
1364 4EBER
i - = 136 A~ 150A & -
B0 | 15 570 +| bGxfn&Ek 3JNXMMAﬁ'+ 30 x ME R X NS A% 520| + 5X MR
£T 3 ® R
1510 AR R
i - = 151 A~ 180A & -
1800 | 15 480 +| 4xpnEE ZﬁWXMMAﬁ'+ 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
1814 AR ER
i - = 181 A~ 210A & -
a0 | 18 40[+|  4xpnEx 22mxmmxﬁ'+ 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
211A AR ER
i - = 211 A~ 2400 -
sson | 1B 360 +| 3xinEEx 1ﬂWXMMAﬁ'+ 10 X INELR x MEEA %K 500| + 5X MR
£T 3 ® R
24 A AR ER
i - = 201 A~ 270N -
a0 | 18 320 +| 3xfnEk 17%Xmmkﬁ_+ 10 X INEL R x MEA %K 500| + 5X MR
£T 3 ® R
27 A AmULER
i - = 271 A~ 300A -
a0 | 18 280 +| 2xfnEx 15%XMMA@’* 10 X INELR x MEEA %K 500| + 5X MR
=T 3 ® R
4L ER
301N - = 301 A~ =
Sr | 1B s s o 260 +| 2xfnEk 1ANXMMAﬁ'+ 10 X INEL R x MEA %K 500| + 5X R




RRRENE (ERNFAE)

RERREME (SMEHRAD

A | maxs |2E| anxs
WBEHREFNE I MBRESFME |
©) @ ©) @ @
% bR
15N 12 4mALLE 2,730 20 480 4
=T = . XBM Y =i A% XBY = Y M X NER X BELYREEHK XBEL-YREERXINEE
160 UL R
mn 12 tRALE 1,630 10 290 2
25;\ - 3 B R XBHY REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T 23 T
260 UL R
mn 12 4RAL 1,170 10 200 2
35;\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDES Ak S IEE: S
T i T
36A UL R
mn 12 tRALE 910 9 160 1
45;\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVUES Ak I E: S
T 23 T
464 5l E R
mn 12 4RAL 680 6 120 1
60i)\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDES A I E: S
T i T
61A UL R
mn 12 tRALE 570 5 100 1
75;\ - 3 B R XBH Y REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
760 UL R
mn 12 tRALE 500 5 80 1
90i)\ - 3 B R XBHY REEH xEH Y ERER K X NEE XBEH=YREEK RS EEVDUES Ak YIS
T i T
1N UL R
min 12 tRALE 440 4 80 1
10;)\ - 3 m m XBHY REEH xEH Y ERER K X NEE XBEH=YREEK RS EEVDUES Ak YIS
T i T
106.A L5 LR
15/100 ) 12 tRALE 410 4 70 1
3 12;)\ - 3 m m XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
1214 L5 LR
min 12 tRALE 370 3 60 1
13;)\ - 3 m m XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
136.4 L5 LR
min 12 tRALE 350 3 60 1
15;)\ - 3 m m XBHY REEH B YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
1514 L5 LR
min 12 tRALE 300 3 50 1
18;)\ - 3 m m XBH Y REEH X YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
1814 L5 LR
) 12 tRALE 270 2 40 1
21;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
211A L5 LR
mn 12 tRALE 250 2 40 1
24;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T i T
2414 L5 LR
) 12 tRALE 220 2 40 1
27;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T i T
271A L5 LR
mn 12 tRALE 200 2 30 1
30;)\ - 3 m m XBHY REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T 23 T
% bR
KUPN 12 ARALE 180 1 30 1
uE [ 7 XBHY REEH B YRR X NEE XBEHYREEK RS EEVDUES Ak I E: S

3 ® R
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= Plms | IR Bt tont | | renomsssnens LRSS
X3A 5 OB I= -
@ @ © @ ® @
AR ER
A e mA ~ 15A 235 x £ ADKE (7, 500
T 27,330 =] +70x Mg &
T ESiA=E: N )
16A 4BUER
R B 16 A~ 25A 235 x £ ADKE (4,500
2BA = 16, 800 A% +40 % M K)
=T 3 ®m R
28 4EUER
R B 26A~ 35N 235 x £ ADKE (3,210
3BA = 12,280 A% +30 % M K)
£T 3 ®m R
36A 4REUER
R B 36A~ 45N 235 x £ ADKE (2,500
45 = 9,770 A% +20 X )
=T 3 ®m R
46A 4EUER
R B 46 A~ 60N 235 x £ ADKE (1,870
60A = 7,500 A% +10x g s)
=T 3 ®m R
61A 4REUER
R B 61 A~ 75N 235 x £ ADKE (1,500
75 = 6,130 A% +10x g s)
=T 3 ® R
78A 4REUER
R B 76 A~ 90N 235 x £ ADKE (1, 250
90A = 5, 220 EHEA% +10x g s)
=T 3 ® R
gaA 4REUER
I B 91 A~ 1054 235 x £ ADKE (1,070
105 = 4, 660 ES A=k +10x IN5ER)
£T 3 ® R
1064 4REBER
15/100 B3 | e B 106 A~ 120K 235 x £ ADKE (930
Hish 1208 | 7 4,250 ES A=k +9x MEK)
£T 3 ® R
1214 4REBER
AT B 121 A~ 135X 235 x £ ADKE (830
135 = 3,920 SR % +8X NERK)
£T 3 ® R
1364 4REBER
I B 136 A~ 150X 235 x £ ADKE (750
150 A = 3, 660 SEHE R % +8X NEERK)
£T 3 ® R
1614 4REBER
I B 151 A~ 180X 235 x £ ADKE (620
1804 = 3,160 SEHE R % +6X INERK)
£T 3 ® R
1814 4REBER
R B 181 A~ 210X 235 x £ ADKE (530
210A = 2,810 SEHE R % +5X INEER)
£T 3 ® R
214 4REBER
I B 211 A~ 240 235 x £ ADKE (460
240N = 2, 540 SEHE R % +5X INEER)
£T 3 ® R
2414 4REBER
R B 241 A~ 270N 235 x £ ADKE 410
270N = 2, 440 SEHE R % +4x INER)
£T 3 ® R
A 4REBER
I B 271 A~ 300A 235 x £ ADKE (370
300A = 2, 360 SEHE B % +4x INER)
=T 3 ® R
AR
WA | g B 301 A~ 235 x £ ADKE (340
sk |7 2, 150 SEHE R % +3X INER)

3 ® R
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A )
1A | g 4mALE (31, 260 (23, 280
£c | 7 +310 X fnEK) X A +230 X MNER) x A%
3 m R
164 A )
R 4RmELE (18,760 (13,970
25N = +180 X fnEK) X A +140 X MNER) x A%
£ 3 ® R
26N A )
R 4RmELE (13, 400 (9, 970
RPN = +130 X fnER) X A +100x MNER) x A%
£ 3 ® R
36A A )
R 4RmELE (10, 420 (7, 760
45N = +100 X fnEK) X A# +70 % INEER) X A
£ 3 ® R
46N A )
A 4mALE (7,810 (5, 820
60N = +70 X fnER) X A +50x MEK) x A
£ 3 ® R
61A A )
A 4mALE (6, 250 (4, 650
75N = +60 X fnER) X A +A40X INER) x A%
£ 3 ® R
76N A )
A 4mALE (5,210 (3, 880
A = +50 X fnER) X A +30 X MNER) x A%
£ 3 ® R
91 A A )
Ll R 4mALE (4, 460 (3,320
1054 = +40 X fnER) X A +30 X MNER) x A%
£ 3 ® R
106 A 55l FIR ~ %
15/100 N T 4mALE (3,900 (2,910 © (&)
iz 1200 +30 X INEE) X A% +20 X INEE) X A%
s 3 & =/ = 5= X B E 8 B R
121N =Ll IR
Ll 4mALE (3, 470 (2, 580
135A = +30 X fnER) X A +20 X MNER) x A%
£ 3 ® R
136 A =Ll IR
R 4mALE (3,120 (2, 320
150 A = +30 X fnER) X A +20 X MNER) x A%
£ 3 ® R
15T A AN
R 4mALE (2, 600 (1, 940
180A = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
181 A =Ll IR
L 4mALE (2, 230 (1, 660
210N = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
211N AN
A 4mALE (1, 950 (1, 450
240N = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
241N AN
L 4mALE (1,730 (1, 290
270X = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
YADN AN
R 4mALE (1, 560 (1, 160
300.A = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
A )
A | 42 4RmELE (1, 420 | @, 080
uE |7 +10x INEE) X A% +10X INER) X A%

3 ® R




WBRESME |

BER - HEREREME
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3 Bl HARDEM > D 5&I1C
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WBRES WBREEF
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[©) @) [©) @ ® ® @
4mLlER 83,290 (90, 920) 810/  (890) x pnE=
15;\(* 18 7,110 70X g 30, 520 300 x Mg =
3 B B 90, 920 890 X hng
164 4R 51,700/ (59, 330) 490)  (570) | x fNE X
2;3;\19 18 4, 260 40X g 18,310 180 x N &
i 3 B B 59, 330 570 X hng
260 4% R 40,380 (48, 010) 380|  (460) | x nE=E
3;3;\19 18 3, 040 30X g 13, 080 130X & &
£ 3 B B 48,010 460 xnEE
36A 4% LR 35,810 (43, 440) 340)  (410) | x nE=E
4;3;\19 18 2,370 20X g 10,170 100X N E
i 3 B B 43, 440 410 X hng
46N 4% R 31,740| (39, 370) 300 (370) | x mnE=E
633;\19 18 1,770 10X ing = 7,630 70 X iR
£ 3 B B 39,370 370 xnEE
61A 4% LR 29,340 (36, 970) 270|  (350) | x nE=E
7;3;\19 18 1,420 10X ing = 6,100 60 X g &K
i 3 B B 36, 970 350 X hng
T6A 4% LR 27,700/ (35, 330) 250/ (330) | x nE=E
933;\19 18 1,180 10X ing = 5,080 50 X g =R
£ 3 B B 35, 330 330 X nE®E
EIPN 4% LR 27,210| (34, 840) 250/ (330) | x nE=E
mfé\f 18 1,010 10X ing = 4,360 40x &
s 3 B B 34, 840 330 X hng
1064 4% LR 26,270 (33, 900) 240|  (320) | x fnE=E
1%1@00 12%\)? ™ 880 X EX 3,810 30X MnEx
g 3 B B 33, 900 320 X nE®E
1214 4% LR 25,520 (33, 150) 230 (310) | x nE=E
LI 790 7x g 3,390 30 % &
1354
gl 3 B B 33, 150 310 X hng
1364 4% LR 24,950| (32, 580) 230)  (300) | x fnE =
15%\)»\3 18 710 7x g 3,050 30X &
el 3 B B 32, 580 300 X nE®E
1514 4% LR 24,060 (31, 690) 220 (290) | x nE=E
18%(3)\ f 18 590 5 i 2,540 20X &
gl 3 B B 31, 690 290 X hng
1814 4% LR 23,410| (31, 040) 210)  (290) | x nE =
21%\)? 18 500 5 i 2,180 20X &
< 3 B B 31, 040 290 X hng
RPN 4% LR 22,940 (30, 570) 210)  (280) | x nE =
24%\)? 18 440 4x 1,900 10X g
gl 3 B B 30, 570 280 X hng
2810 4% LR 22,570/ (30, 200) 200 (280) | x nE=E
27%\)? 18 390 Ix IR 1,690 10X g
£ 3 B B 30, 200 280 X hng
IAPN 4% LR 22,280 (29, 910) 200 (280) | x nE=E
30@)? 18 350 Ix IR 1,520 10X g
g 3 B B 29,910 280 X nE®E
4mLLER 22,040 (29, 670) 2000 (270) | x =
30&)1 1= 320 3XNEE
3 B B 29, 670 270 X hng
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%
P R SRRERESENSE | |opppeasngkl)| |CRREEXENESY)
K4 EEX5D % 53 FEWHX D
MiBRES MiBRES MiBRES
mE 1 mE 1 mE 1
@ @ 3 @ ©) ©’
4gul R+ (7,630)| (70X mMER)
L R
3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
133{\ 4l ER|+| (7,630)] (70x MELR)
e | 1%
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
22{\ 4l ER|+| (7,630)] (70X MER)
wh | 1%
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
32{\ 4l ER|+| (7,630)] (70x MER)
s | 1%
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
433{\ 4l ER|+| (7,630)] (70X MER)
on | 1%
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
6}3{\ 4l ER|+| (7,630)] (70x MER)
e | 1%
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
733{\ 4l ER|+| (7,630)] (70x MER)
wr | 1%
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
9}3{\ 4l ER|+| (7,630)] (70x MER)
105f =
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
1064 4% ER|+| (7,630)| (70x Mg
12/100 B3 | e mA (7,630 € )
iz 120 A =
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
121\): 4l ER|+| (7,630)] (70x MER)
13@)? =
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
136\): 4l ER|+| (7,630)] (70x MER)
15?))? =
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
151\): 4l ER|+| (7,630)] (70x MER)
18?))? =
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
181\): 4l ER|+| (7,630)] (70x MER)
21?))‘? =
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
21;\): 4l ER|+| (7,630)] (70X MER)
240f =
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
24;\): 4l ER|+| (7,630)] (70x MELR)
270f =
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
27;\): 4l ER|+| (7,630)] (70X MER)
300f =
=T 3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X
4 ERI+ 7,630)| (70x =
01 A R (7, 630) [ (70 x M E =)
s 15
3 ®m R|+ 7,630 70xmnE=E|+| 53, 420|+ 530 x InEE|+ 45,790+ | 450 X InE X




F—LREEMEMNE

e EETELEME 15 - 250FAEEGICHLTHATFE DR BEEDINE
A | maxs |2E| anxs fi =
WBREE WBREE nEREE
hn#E 1 n#E 1 &I
©) @ © @ @) ® ®
154 4L ER ~ 15A
£c |18 5,780 +| 50x &= wﬁ%XMMAﬁ’* 300 x MR X L A %K . 640] + 30X MnExR
3 m R
16A AR ER
i - = 16A~ 25A & -
250 15 3,470 +| 30xmE=E mﬁWXMMAﬁ’* 180 X INEL K x MEE A% . 490] + 20 x fnE xR
=T 3 ® R
26 AR ER
i - = 26 A~ 35N & -
BN 15 2,480 +| 20xmE== Mﬂ%xmmxﬁ'+ 130 X INE R x MEE A% . 000] + 20 x finE xR
£T 3 ® R
36A AR ER
i - _ _ 36A~ 45N & -
5N 15 + mJNXMMAﬁ'+ 100 x fin& = x B A ,730] + 10X =
=T 3 ® R
46 AR ER
i - _ _ 46N~ 60N & -
G0N 15 + Zemxmmxﬁ'+ 70X INE R X ME A% ,300] + 10X =
=T 3 ® R
614 AR ER
i - _ _ 1A~ 75N & -
750 15 + &1WXMMAﬁ'+ 60 X INE R X ME A% , 040 + 10X =
=T 3 ® R
76 AR ER
i - _ _ 76 A~ 90N & -
N 15 + 5OWXMMAﬁ'+ 50 X INE R X ME A% 860| + 8 ME R
=T 3 ® R
91A AR ER
i - _ _ 91 A~ 1054 & -
1054 | 18 + 43WXMMAﬁ'+ 40X INE R X ME A% 740| + TX R
£T 3 ®m R
1064 4FULER
‘%go o s —|+ - 1%@%;%&Aﬁ-+ 30 X JEE % X MEA K 650 +|  6xmmE
£T 3 ® R '
1214 4EBER
i - = 121 A~ 135A & -
13540 | 15 640 +| 6xfnEkx 33%XMMA@’* 30 x MR X NS A% 570| + 5X xR
£T 3 ®m R
1364 4EBER
i - = 136 A~ 150A & -
B0 | 15 570 +| bGxfn&Ek 3ﬂ%xmmxﬁ'+ 30 x ME R X NS A% 520| + 5X MR
£T 3 ® R
1510 AR R
i - = 151 A~ 180A & -
1800 | 15 480 +| 4xpnEE ZﬁmXMMAﬁ'+ 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
1814 AR ER
i - = 181 A~ 210A & -
a0 | 18 40[+|  4xpnEx zn%xmmxﬁ'* 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
211A AR ER
i - = 211 A~ 2400 -
sson | 1B 360 +| 3xinEEx 1HWXMMAﬁ'+ 10 X INELR x MEEA %K 500| + 5X MR
£T 3 ® R
24 A AR ER
i - = 201 A~ 270N -
a0 | 18 320 +| 3xfnEk 1ﬁ%XMMAﬁ’* 10 X INEL R x MEA %K 500| + 5X MR
£T 3 ® R
27 A AmULER
i - = 271 A~ 300A -
a0 | 18 280 +| 2xfnEx 15mxmmxﬁ'+ 10 X INELR x MEEA %K 500| + 5X MR
=T 3 ® R
4L ER
301N - = 301 A~ =
Sr | 1B s s o 260 +| 2xfnEk 13%XMMA@’* 10 X INEL R x MEA %K 500| + 5X R




RRRENE (ERNFAE)

RERREME (SMEHRAD

A | maxs |2E| anxs
WBEHREFNE I MBRESFME |
©) @ ©) @ @
% bR
15N 12 4mALLE 2,730 20 480 4
=T = . XBM Y =i A% XBY = Y M X NER X BELYREEHK XBEL-YREERXINEE
160 UL R
mn 12 tRALE 1,630 10 290 2
25;\ - 3 B R XBHY REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T 23 T
260 UL R
mn 12 4RAL 1,170 10 200 2
35;\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDES Ak S IEE: S
T i T
36A UL R
mn 12 tRALE 910 9 160 1
45;\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVUES Ak I E: S
T 23 T
464 5l E R
mn 12 4RAL 680 6 120 1
60i)\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDES A I E: S
T i T
61A UL R
mn 12 tRALE 570 5 100 1
75;\ - 3 B R XBH Y REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
760 UL R
mn 12 tRALE 500 5 80 1
90i)\ - 3 B R XBHY REEH xEH Y ERER K X NEE XBEH=YREEK RS EEVDUES Ak YIS
T i T
1N UL R
min 12 tRALE 440 4 80 1
10;)\ - 3 m m XBHY REEH xEH Y ERER K X NEE XBEH=YREEK RS EEVDUES Ak YIS
T i T
106.A L5 LR
12/100 ) 12 tRALE 410 4 70 1
3 12;)\ - 3 m m XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
1214 L5 LR
min 12 tRALE 370 3 60 1
13;)\ - 3 m m XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
136.4 L5 LR
min 12 tRALE 350 3 60 1
15;)\ - 3 m m XBHY REEH B YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
1514 L5 LR
min 12 tRALE 300 3 50 1
18;)\ - 3 m m XBH Y REEH X YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
1814 L5 LR
) 12 tRALE 270 2 40 1
21;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
211A L5 LR
mn 12 tRALE 250 2 40 1
24;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T i T
2414 L5 LR
) 12 tRALE 220 2 40 1
27;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T i T
271A L5 LR
mn 12 tRALE 200 2 30 1
30;)\ - 3 m m XBHY REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T 23 T
% bR
KUPN 12 ARALE 180 1 30 1
uE [ 7 XBHY REEH B YRR X NEE XBEHYREEK RS EEVDUES Ak I E: S
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109 | capn 22| cpmpy | |uon. SF T RUMHERILT
= Plms | IR Bt tont | | renomsssnens LRSS
X3A 5 OB I= -
@ @ © @ ® @
AR ER
A e mA ~ 15A 235 x £ ADKE (7, 500
T 27,330 =] +70x Mg &
T ESiA=E: N )
16A 4BUER
R B 16 A~ 25A 235 x £ ADKE (4,500
2BA = 16, 800 A% +40 % M K)
=T 3 ®m R
28 4EUER
R B 26A~ 35N 235 x £ ADKE (3,210
3BA = 12,280 A% +30 % M K)
£T 3 ®m R
36A 4REUER
R B 36A~ 45N 235 x £ ADKE (2,500
45 = 9,770 A% +20 X )
=T 3 ®m R
46A 4EUER
R B 46 A~ 60N 235 x £ ADKE (1,870
60A = 7,500 A% +10x g s)
=T 3 ®m R
61A 4REUER
R B 61 A~ 75N 235 x £ ADKE (1,500
75 = 6,130 A% +10x g s)
=T 3 ® R
78A 4REUER
R B 76 A~ 90N 235 x £ ADKE (1, 250
90A = 5, 220 EHEA% +10x g s)
=T 3 ® R
gaA 4REUER
I B 91 A~ 1054 235 x £ ADKE (1,070
105 = 4, 660 ES A=k +10x IN5ER)
£T 3 ® R
1064 4REBER
12/100 B3 | e B 106 A~ 120K 235 x £ ADKE (930
Hish 1208 | 7 4,250 ES A=k +9x MEK)
£T 3 ® R
1214 4REBER
AT B 121 A~ 135X 235 x £ ADKE (830
135 = 3,920 SR % +8X NERK)
£T 3 ® R
1364 4REBER
I B 136 A~ 150X 235 x £ ADKE (750
150 A = 3, 660 SEHE R % +8X NEERK)
£T 3 ® R
1614 4REBER
I B 151 A~ 180X 235 x £ ADKE (620
1804 = 3,160 SEHE R % +6X INERK)
£T 3 ® R
1814 4REBER
R B 181 A~ 210X 235 x £ ADKE (530
210A = 2,810 SEHE R % +5X INEER)
£T 3 ® R
214 4REBER
I B 211 A~ 240 235 x £ ADKE (460
240N = 2, 540 SEHE R % +5X INEER)
£T 3 ® R
2414 4REBER
R B 241 A~ 270N 235 x £ ADKE 410
270N = 2, 440 SEHE R % +4x INER)
£T 3 ® R
A 4REBER
I B 271 A~ 300A 235 x £ ADKE (370
300A = 2, 360 SEHE B % +4x INER)
=T 3 ® R
AR
WA | g B 301 A~ 235 x £ ADKE (340
sk |7 2, 150 SEHE R % +3X INER)

3 ® R
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A )
1A | g 4mALE (30, 520 (22, 540
£c | 7 s » R +300 X fnEK) X A +220 X MNER) x A%
164 A )
R 4RmELE (18,310 (13,520
25N = +180 X fnEK) X A +130 X MNER) x A%
£ 3 ® R
26N A )
R 4RmELE (13,080 (9, 660
RPN = +130 X fnER) X A +90 X MNER) x A%
£ 3 ® R
36A A )
R 4RmELE (10,170 (7,510
45N = +100 X fnEK) X A# +70x ER) x A%
£ 3 ® R
46N A )
A 4mALE (7, 630 (5, 630
60N = +70 X fnER) X A +50x MEK) x A
£ 3 ® R
61A A )
A 4mALE (6, 100 (4, 500
75N = +60 X fnER) X A +A40X INER) x A%
£ 3 ® R
76N A )
A 4mALE (5, 080 (3, 750
A = +50 X fnER) X A +30x MEEK) x A
£ 3 ® R
91 A A )
Ll R 4mALE (4, 360 (3,220
1054 = +40 X fnER) X A +30 X MNER) x A%
£ 3 ® R
106 A 55l FIR ~ %
12/100 N T 4mALE (3,810 (2,810 © (&)
iz 1200 +30 X INEE) X A% +20 X INEE) X A%
s 3 & =/ = 5= X B E 8 B R
121N =Ll IR
Ll 4mALE (3,390 (2,500
135A = +30 X fnER) X A +20 X MNER) x A%
£ 3 ® R
136 A =Ll IR
R 4mALE (3, 050 (2, 250
150 A = +30 X fnER) X A +20 X MNER) x A%
£ 3 ® R
15T A AN
R 4mALE (2, 540 (1, 870
180A = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
181 A =Ll IR
L 4mALE (2,180 (1,610
210N = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
211N AN
A 4mALE (1, 900 (1, 400
240N = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
241N AN
L 4mALE (1, 690 (1, 250
270X = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
YADN AN
R 4mALE (1,520 (1,120
300.A = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
A )
A | 42 4RmELE (1,380 | @020
uE |7 +10x INEE) X A% +10X INER) X A%
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XI5 285 0FAEADET A

3 @ HARS B y 3 N
ﬂéz\z EERS ;,f\ FEPHRL 36 AL ES00A LT (B2 (= M
M EL MiBRES
GE) G¥) meE 1 mE 1
[©) @) [©) @ ® ® @
4BLER 82,140| (89, 640) 800  (870) x Mgk
! 5;% 18 6, 970 60X JNE % 30,030 300 X IE R
3 B R 89, 640 870 X INEE
T6A AR ER 51,010 (58, 510) 490 (560) X nE =
2?}:’ 12 4,180 40X NE R 18,010 180 x N =
£ 3 B R 58, 510 560 X B
260 AR ER 39,850 (47, 350) 380 (450) X pnE =
3;3;\”’ 12 2,990 20X INE R 12,870 120 % fREE =
£ 3 B R 47, 350 450 X B
36A AR ER 36,360 (42, 850) 330 (410) x pnE=
4;3;\”’ 12 2,320 20 % INE R 10,010 100 % R =
£ 3 B R 42, 850 410 X B
460 AR ER 31,330 (38, 830) 290/ (370) x pnEE
6633\‘9 18 1,740 10x e 7,500 70x ek
£ 3 B R 38, 830 370 X B
61A AR ER 28,960 (36, 460) 270/ (340) | x pnEE
7?}\‘9 18 1,390 10x Mg 6, 000 60 X AN Bk
£ 3 B R 36, 460 340 X NEE
76N AR ER 27,360 (34, 850) 250/ (330) x pnEE
9633\‘9 18 1,160 10x Mg 5, 000 50X Bk
£ 3 B R 34, 850 330 X B
91A AR ER 26,870 (34, 370) 250/ (320) X pnEE
wf%\ f ™ 990 9x g R 4,290 40X R
s 3 B R 34, 370 320 X B
106.A AR ER 265,940 (33, 440) 240/ (310) | x pnEX
! %szoo : 2’5‘ 2l 870 Bx ME % 3,750 30X e ®
s 3 B R 33, 440 310 X B
1214 AR ER 26,200 (32, 700) 230/ (300) | x pnEE
13%;\ f ™ 770 7x g R 3,330 30X MR
s 3 B R 32, 700 300 X B
136A AR ER 24,630 (32, 130) 220/ (300) | x pnEE
15%\ f ™ 690 6% INE R 3,000 30X MR
s 3 B R 32,130 300 X B
181 A AR R 23,760 (31, 260) 220/ (290) X pnEE
G TS 580 5x E 2,500 20 X B %
180A
s 3 B R 31, 260 290 X B
181A AR ER 23,120 (30, 620) 210/ (280) x pnE =
ne g 490 Ax EE 2,140 20X B
210 A
s 3 B R 30, 620 280 X B
21A AR ER 22,660 (30, 150) 2000 (280) X pnEE
24%\ f ™ 430 4x ER 1,870 10X Mg
s 3 B R 30, 150 280 X B
281N AR ER 22,290 (29, 790) 2000 (280) X pnEE
27%\ f ™ 380 3IX ER 1,660 10X Mg
s 3 B R 29, 790 280 X B
2NA AR ER 22,000 (29, 500) 2000 (270) | x pnEE
30%\ f ™ 340 3IX ER 1,500 10X Mg
s 3 B R 29, 500 270 X B
4BLER 21,760| (29, 260) 200 (270) | X K
30&)1 1= 310 IXMER
3 B R 29, 260 270 x INEE




# 3 B R RS AR i 3 RIS A
%
P R SRRERESENSE | |opppeasngkl)| |CRREEXENESY)
K4 EEX5D % 53 FEWHX D
MiBRES MiBRES MiBRES
mE 1 mE 1 mE 1
@ @ 3 @ ©) ©’
4%l R +|  (7,500)| (70x mEX)
L R
3 ®m R|+ 7,500] 70xmnEXR[4+]| 52 550 520 X InE = |+ 45, 050]+ | 450 X InE X
133{\ 4l ER|+| (7,500)] (70x MEER)
e | 1%
=T 3 ®m R|+ 7,500] 70xnEXR[4+]| 52 550 520 X InE = |+ 45,050+ | 450 X InE X
22{\ 4l ER|+| (7,500)] (70x nEEk)
wh | 1%
=T 3 ®m R|+ 7,500] 70xmnEXR[4+]| 52 550 520 X InE = |+ 45, 050|+ | 450 X InE X
32{\ 4l ER|+| (7,500)] (70x MEER)
s | 1%
=T 3 ®m R|+ 7,500] 70xnEXR[4+]| 52 550 520 X InE = |+ 45,050+ | 450 X InE X
433{\ 4l ER|+| (7,500)] (70x nEEk)
on | 1%
=T 3 ®m R|+ 7,500] 70xnEXR[4+]| 52 550 520 X InE = |+ 45, 050|+ | 450 X InE X
6}3{\ 4l ER|+| (7,500)] (70x MEER)
e | 1%
=T 3 ®m R|+ 7,500] 70xnEXR[4+]| 52 550 520 X InE = |+ 45, 050|+ | 450 X InE X
733{\ 4l ER|+| (7,500)] (70x MEER)
wr | 1%
=T 3 ®m R|+ 7,500] 70xmnEXR[+]| 52 550 520 X InE = |+ 45, 050|+ | 450 X InE X
9}3{\ 4l ER|+| (7,500)] (70x MEER)
105f =
=T 3 ®m R|+ 7,500] 70xmnEXR[4+]| 52 550 520 X InE = |+ 45, 050|+ | 450 X InE X
1064 4% ER|+| (7,500)| (70 x png =
10/100 B3 | e mA (75000 € )
iz 120 A =
=T 3 ®m R|+ 7,500] 70xmnEXR[4+]| 52 550 520 X InE = |+ 45,050+ | 450 X InE X
121\): 4l ER|+| (7,500)] (70x MEER)
13@)? =
=T 3 ®m R|+ 7,500 70xmnE=E|+| 52, 550|+ 520 x InEE|+ 45,050+ | 450 X InE X
136\): 4l ER|+| (7,500)] (70x nEER)
15?))? =
=T 3 ®m R|+ 7,500 70xmnE=E|+| 52, 550|+ 520 x InEE|+ 45, 050|+ | 450 X InE X
151\): 4l ER|+| (7,500)] (70x EER)
18?))? =
=T 3 ®m R|+ 7,500 70xmnE=E|+| 52, 550|+ 520 x InEE|+ 45,050+ | 450 X InE X
18;\): 4l ER|+| (7,500)] (70x nEER)
210f =
=T 3 ®m R|+ 7,500 70xmnE=E|+| 52, 550|+|520x InEE|+ 45,050+ | 450 X InE X
21;\): 4l ER|+| (7,500)] (70x nEER)
240f =
=T 3 ®m R|+ 7,500 70xmnE=E|+| 52, 550|+ 520 x InEE|+ 45, 050|+ | 450 X InE X
24;\): 4l ER|+| (7,500)] (70x MEER)
270f =
=T 3 ®m R|+ 7,500 70xmnE=E|+| 52, 550|+ 520 x InEE|+ 45, 050|+ | 450 X InE X
27;\): 4l ER|+| (7,500)] (70x nEER)
300f =
=T 3 ®m R|+ 7,500 70xmnE=E|+| 52, 550+ |520x InEE|+ 45, 050|+ | 450 X InE X
4 ERI+ 7,500)| (70 x =
01 A R (7, 500) [ (70 x M EE =)
s 15
3 ®m R|+ 7,500 70xmnE=E|+| 52, 550|+ 520 x InEE|+ 45, 050]+ | 450 X InE X




F—LREEMEMNE

e EETELEME 15 - 250FAEEGICHLTHATFE DR BEEDINE
A | maxs |2E| anxs fi =
WBREE WBREE nEREE
hn#E 1 n#E 1 &I
©) @ © @ @) ® ®
154 4L ER ~ 15A
£c |18 5,780 +| 50x &= %ﬂmxmmkﬁ_+ 300 x MR X L A %K . 640] + 30X MnExR
3 m R
16A AR ER
i - = 16A~ 25A & -
250 15 3,470 +| 30xmE=E mﬂWXMMAﬁ’* 180 X INEL K x MEE A% . 490] + 20 x fnE xR
=T 3 ® R
26 AR ER
i - = 26 A~ 35N & -
BN 15 2,480 +| 20xmE== mﬂNXMMAﬁ’* 120 X N R X MEE A% . 000] + 20 x finE xR
£T 3 ® R
36A AR ER
i - _ _ 36A~ 45N & -
5N 15 + mﬂWXMMAﬁ'+ 100 x fin& = x B A ,730] + 10X =
=T 3 ® R
46 AR ER
i - _ _ 46N~ 60N & -
G0N 15 + ZB%XMMAﬁ_+ 70X INE R X ME A% ,300] + 10X =
=T 3 ® R
614 AR ER
i - _ _ 1A~ 75N & -
750 15 + &Omxmmxﬁ'+ 60 X INE R X ME A% , 040 + 10X =
=T 3 ® R
76 AR ER
i - _ _ 76 A~ 90N & -
N 15 + 5OWXMMAﬁ'+ 50 X INE R X ME A% 860| + 8 ME R
=T 3 ® R
91A AR ER
i - _ _ 91 A~ 1054 & -
1054 | 18 + 4ZWXMMAﬁ'+ 40X INE R X ME A% 740| + TX R
£T 3 ®m R
1064 4FULER
‘%go o s —|+ - 1%@%;%&Aﬁ-+ 30 X JEE % X MEA K 650 +|  6xmmE
£T 3 ® R '
1214 4EBER
i - = 121 A~ 135A & -
13540 | 15 640 +| 6xfnEkx 33meMAﬁ-+ 30 x MR X NS A% 570| + 5X xR
£T 3 ®m R
1364 4EBER
i - = 136 A~ 150A & -
B0 | 15 570 +| bGxfn&Ek 3ﬂWXMMAﬁ'+ 30 x ME R X NS A% 520| + 5X MR
£T 3 ® R
1510 AR R
i - = 151 A~ 180A & -
1800 | 15 480 +| 4xpnEE 25%XMMAﬁ'+ 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
1814 AR ER
i - = 181 A~ 210A & -
a0 | 18 40[+|  4xpnEx 2nmxmmxﬁ'* 20 X ME R X NS A% 500| + 5X MR
£T 3 ® R
211A AR ER
i - = 211 A~ 2400 -
sson | 1B 360 +| 3xinEEx 1ﬂNXMMAﬁ'+ 10 X INELR x MEEA %K 500| + 5X MR
£T 3 ® R
24 A AR ER
i - = 201 A~ 270N -
a0 | 18 320 +| 3xfnEk 1ﬁ%XMMAﬁ_+ 10 X INEL R x MEA %K 500| + 5X MR
£T 3 ® R
27 A AmULER
i - = 271 A~ 300A -
a0 | 18 280 +| 2xfnEx 15%XMMA@’* 10 X INELR x MEEA %K 500| + 5X MR
=T 3 ® R
4L ER
301N - = 301 A~ =
Sr | 1B s s o 260 +| 2xfnEk 1ﬁ%XMMAﬁ_+ 10 X INEL R x MEA %K 500| + 5X R




RRRENE (ERNFAE)

RERREME (SMEHRAD

A | maxs |2E| anxs
WBEHREFNE I MBRESFME |
©) @ ©) @ @
% bR
15N 12 4mALLE 2,730 20 480 4
=T = . XBM Y =i A% XBY = Y M X NER X BELYREEHK XBEL-YREERXINEE
160 UL R
mn 12 tRALE 1,630 10 290 2
25;\ - 3 B R XBHY REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T 23 T
260 UL R
mn 12 4RAL 1,170 10 200 2
35;\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDES Ak S IEE: S
T i T
36A UL R
mn 12 tRALE 910 9 160 1
45;\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVUES Ak I E: S
T 23 T
464 5l E R
mn 12 4RAL 680 6 120 1
60i)\ - 3 B R XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDES A I E: S
T i T
61A UL R
mn 12 tRALE 570 5 100 1
75;\ - 3 B R XBH Y REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
760 UL R
mn 12 tRALE 500 5 80 1
90i)\ - 3 B R XBHY REEH xEH Y ERER K X NEE XBEH=YREEK RS EEVDUES Ak YIS
T i T
1N UL R
min 12 tRALE 440 4 80 1
10;)\ - 3 m m XBHY REEH xEH Y ERER K X NEE XBEH=YREEK RS EEVDUES Ak YIS
T i T
106.A L5 LR
10/100 ) 12 tRALE 410 4 70 1
3 12;)\ - 3 m m XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
1214 L5 LR
min 12 tRALE 370 3 60 1
13;)\ - 3 m m XBHY REEH B YRR X NEE XBEH=YREEK RS EEVDUES Ak YIS
T 23 T
136.4 L5 LR
min 12 tRALE 350 3 60 1
15;)\ - 3 m m XBHY REEH B YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
1514 L5 LR
min 12 tRALE 300 3 50 1
18;)\ - 3 m m XBH Y REEH X YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
1814 L5 LR
) 12 tRALE 270 2 40 1
21;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK RS EEVUES Ak I E: S
T 23 T
211A L5 LR
mn 12 tRALE 250 2 40 1
24;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T i T
2414 L5 LR
) 12 tRALE 220 2 40 1
27;)\ - 3 m m XBH Y REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T i T
271A L5 LR
mn 12 tRALE 200 2 30 1
30;)\ - 3 m m XBHY REEH B YRR X NEE XBEH-YREEK ESEEVIES Ak I E: S
T 23 T
% bR
KUPN 12 ARALE 180 1 30 1
uE [ 7 XBHY REEH B YRR X NEE XBEHYREEK RS EEVDUES Ak I E: S

3 ® R




IBREAFTOFEL

SEREC A 2 BB B TEYFETHED
109 | capn 22| cpmpy | |uon. SF T RUMHERILT
= Plms | IR Bt tont | | renomsssnens LRSS
X3A 5 OB I= -
@ @ © @ ® @
AR ER
A e mA ~ 15A 235 x £ ADKE (7, 500
T 27,330 =] +70x Mg &
T ESiA=E: N )
16A 4BUER
R B 16 A~ 25A 235 x £ ADKE (4,500
2BA = 16, 800 A% +40 % M K)
=T 3 ®m R
28 4EUER
R B 26A~ 35N 235 x £ ADKE (3,210
3BA = 12,280 A% +30 % M K)
£T 3 ®m R
36A 4REUER
R B 36A~ 45N 235 x £ ADKE (2,500
45 = 9,770 A% +20 X )
=T 3 ®m R
46A 4EUER
R B 46 A~ 60N 235 x £ ADKE (1,870
60A = 7,500 A% +10x g s)
=T 3 ®m R
61A 4REUER
R B 61 A~ 75N 235 x £ ADKE (1,500
75 = 6,130 A% +10x g s)
=T 3 ® R
78A 4REUER
R B 76 A~ 90N 235 x £ ADKE (1, 250
90A = 5, 220 EHEA% +10x g s)
=T 3 ® R
gaA 4REUER
I B 91 A~ 1054 235 x £ ADKE (1,070
105 = 4, 660 ES A=k +10x IN5ER)
£T 3 ® R
1064 4REBER
10/100 B3 | e B 106 A~ 120K 235 x £ ADKE (930
Hish 1208 | 7 4,250 ES A=k +9x MEK)
£T 3 ® R
1214 4REBER
AT B 121 A~ 135X 235 x £ ADKE (830
135 = 3,920 SR % +8X NERK)
£T 3 ® R
1364 4REBER
I B 136 A~ 150X 235 x £ ADKE (750
150 A = 3, 660 SEHE R % +8X NEERK)
£T 3 ® R
1614 4REBER
I B 151 A~ 180X 235 x £ ADKE (620
1804 = 3,160 SEHE R % +6X INERK)
£T 3 ® R
1814 4REBER
R B 181 A~ 210X 235 x £ ADKE (530
210A = 2,810 SEHE R % +5X INEER)
£T 3 ® R
214 4REBER
I B 211 A~ 240 235 x £ ADKE (460
240N = 2, 540 SEHE R % +5X INEER)
£T 3 ® R
2414 4REBER
R B 241 A~ 270N 235 x £ ADKE 410
270N = 2, 440 SEHE R % +4x INER)
£T 3 ® R
A 4REBER
I B 271 A~ 300A 235 x £ ADKE (370
300A = 2, 360 SEHE B % +4x INER)
=T 3 ® R
AR
WA | g B 301 A~ 235 x £ ADKE (340
sk |7 2, 150 SEHE R % +3X INER)

3 ® R




ERIRBEREE RBEERHOND e it 1 A o
S T TESHA mAAEEALsgs | |EREERNCEET S8
K4 TEXD % 53 FEWHX D
[©) @) [©) @
A )
1A | g 4mALE (30, 030 (22, 040
£c | 7 s » R +300 X fnEK) X A +220 X MNER) x A%
164 A )
R 4RmELE (18,010 (13, 220
25N = +180 X fnEK) X A +130 X MNER) x A%
£ 3 ® R
26N A )
R 4RmELE (12,870 (9, 440
RPN = +120 X fnER) X A +90 X MNER) x A%
£ 3 ® R
36A A )
R 4RmELE (10, 010 (7, 340
45N = +100 X fnEK) X A# +70x ER) x A%
£ 3 ® R
46N A )
A 4mALE (7, 500 (5,510
60N = +70 X fnER) X A +50x MEK) x A
£ 3 ® R
61A A )
A 4mALE (6, 000 (4, 400
75N = +60 X fnER) X A +A40X INER) x A%
£ 3 ® R
76N A )
A 4mALE (5, 000 (3,670
A = +50 X fnER) X A +30x MEEK) x A
£ 3 ® R
91 A A )
Ll R 4mALE (4, 290 (3, 150
1054 = +40 X fnER) X A +30 X MNER) x A%
£ 3 ® R
106 A 55l FIR ~ %
10/100 N T 4mALE (3,750 (2,750 © (&)
iz 1200 +30 X INEE) X A% +20 X INEE) X A%
s 3 & =/ = 5= X B E 8 B R
121N =Ll IR
Ll 4mALE (3,330 (2, 450
135A = +30 X fnER) X A +20 X MNER) x A%
£ 3 ® R
136 A =Ll IR
R 4mALE (3,000 (2, 200
150 A = +30 X fnER) X A +20 X MNER) x A%
£ 3 ® R
15T A AN
R 4mALE (2,500 (1, 830
180A = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
181 A =Ll IR
L 4mALE (2, 140 (1,570
210N = +20 X fnER) X A +10X MNER) x A%
£ 3 ® R
211N AN
A 4mALE (1, 870 (1,370
240N = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
241N AN
L 4mALE (1, 660 (1, 220
270X = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
YADN AN
R 4mALE (1,500 (1,100
300.A = +10X fnER) X A +10X MNER) x A%
£ 3 ® R
A )
A | 42 4RmELE (1,360 _| @, 000
uE |7 +10x INEE) X A% +10X INER) X A%

3 ® R




WBRESME |

BER - HEREREME

SRR R B IS AN E
XI5 285 0FAEADET A

3 Bl HARDEM > D 5&I1C
ﬂéz\z 2ARYS |EF| #pEs 36ALLE0ALL T DB A - 5
WBREE nEREE
G2) G2) S sl
©) ) ® @ ® ® @
AU LR 79,830 (87, 090) 780  (850) | x fnE =
1 ;AT 1= 6, 700 60 x &R 29, 040[ +| 290 x M
3 & R 87, 090 850 X PREL R
164 4R 49,630/ (56, 890) 470/ (550) | X IR =
2;319 1= 4,020 40 x g R 17,420 +| 170 &
=z 3 & R 56, 890 550 X PRELER
268 45U ER 38,790 (46, 050) 3700 (440)  x MnE &
3;319 1= 2,870 20x g R 12,440| +| 120x i
e 3 & R 46, 050 440 X PRELER
36A 45 ER 34,410 (41, 670) 3200 (390) | x M=
4;319 1= 2,230 20x g R 9,680[+ 90 X RE =
e 3 & R 41,670 390 X PRELER
460 4% ER 30,500 (37, 760) 280 (360) | xmnE=&
6(?;\‘9 1= 1,670 10x s 7,260( + 70X pRE =
=z 3 & R 37,760 360 X PRELER
61N 45 ER 28,200 (35, 460) 260 (330)  xMnE &
7;319 1= 1,340 10x sk 5, 800( + 50 X fRE =
e 3 & R 35, 460 330 X PRELER
76N 45 ER 26,630 (33, 890) 2400 (320) | x M &
9(?;\‘9 1= 1,110 10x sk 4,840+ 40x pRE =
=z 3 & R 33,890 320 X PREL R
91A 45 ER 26,180| (33, 440) 2400 (310) | x MnE &
mfé\f ™ 950 IX NEX 4,140| + 40 X R
=z 3 & R 33, 440 310 X PREL R
106.A 45 ER 25,290| (32, 550) 2300 (300) | x M=
f;ig&o 12%\)? ™ 830 X EX 3, 630| + 30X B R
v 3 & R 32, 550 300 X PREL R
1214 45 ER 24,560 (31, 820) 2200 (300) | x M=
wfé\f ™ 740 TXMEX 3, 220| + 30X B R
=z 3 & R 31,820 300 X PREL R
1364 45 ER 24,010 (31,270) 2200 (290) | x fnE =
15%\)? ™ 670 6X MEX 2,900| + 20 X R
T 3 & R 31,270 290 X PREL R
151A 45U ER 23,150| (30, 410) 2100 (280) | x M=
18%\)? ™ 550 5X NEX 2, 420| + 20 X R
g 3 & R 30, 410 280 X PREL R
181A 45 ER 22,530 (29, 790) 2000 (280) | x M &
21%\)? ™ 470 AX MER 2,070] + 20 X R
¢ 3 & R 29, 790 280 X PRELER
211A 45U ER 22,070 (29, 330) 2000 (270) | x M &
24%\)? ™ 410 AX MER 1,810] + 10X INE =
g 3 & R 29, 330 270 X PREL R
241 A 45U ER 21,720 (28, 980) 2000 (270) | x M &
27%\)? ™ 370 IXMEX 1,610] + 10X INE =
=z 3 & R 28, 980 270 X PREL R
2N A 45U ER 21,440| (28, 700) 190 (260) | x o=
30%\)? ™ 330 IXMEX 1,450 + 10X INE R
= 3 & R 28, 700 260 X PREL R
AU LR 21,200| (28, 460) 190, (260) | x &=
30&)1 1= 300 IxXMEE
3 & R 28, 460 260 X PRELR




# 3 B R RS AR i 3 RIS A
%
P R SRRERESENSE | |opppeasngkl)| |CRREEXENESY)
K4 EEX5D % 53 FEWHX D
MiBRES MiBRES MiBRES
mE 1 mE 1 mE 1
@ @ 3 @ ©) ©’
4gulER|+| (7, 260)| (70x ER)
L R
3 ®m R|+ 7,260 70xnEXR[4+]| 50, 820 500 X InE = |+ 43,560|+ | 430 X InE X
133{\ 4l ER|+| (7 260)] (70x MnEER)
e | 1%
=T 3 ®m R|+ 7,260 70xnEXR(4+] 50, 820 500 X InE = |+ 43,560|+ | 430 x InE X
22{\ 4l ER|+| (7 260)] (70x InEER)
wh | 1%
=T 3 ®m R|+ 7,260] 70xnEXR[4+] 50, 820 500 X InE x|+ 43,560|+ | 430 X InE X
32{\ 4l ER|+| (7 260)] (70x MnEER)
s | 1%
=T 3 ®m R|+ 7,260 70xnEXR(4+] 50, 820 500 X InE = |+ 43,560|+ | 430 X InE X
433{\ 4l ER|+| (7 260)] (70x InEER)
on | 1%
=T 3 ®m R|+ 7,260] 70xmnEXR[4+] 50, 820 500 X InE x|+ 43,560|+ | 430 X InE X
6}3{\ 4l ER|+| (7 260)] (70x MnEER)
e | 1%
=T 3 ®m R|+ 7,260 70xnEXR[4+]| 50, 820 500 X InE x|+ 43,560|+ | 430 X InE X
733{\ 4l ER|+| (7 260)] (70x MnEER)
wr | 1%
=T 3 ®m R|+ 7,260] 70xnEXR(4+] 50, 820 500 X InE x|+ 43,560|+ | 430 X InE X
9}3{\ 4l ER|+| (7, 260)] (70x InER)
105f =
=T 3 ®m R|+ 7,260] 70xnEXR(4+] 50, 820 500 X InE x|+ 43,560|+ | 430 X InE X
1064 4% ER|+| (7,260)| (70 x g
6/100 B3 | e mA (7260 € )
iz 120 A =
=T 3 ®m R|+ 7,260] 70xnEXR(4+] 50, 820 500 X InE = |+ 43,560|+ | 430 X INE X
121\): 4l ER|+| (7, 260)] (70x InER)
13@)? =
=T 3 ®m R|+ 7,260 70xmnE=E|+| 50, 820|+|500x inEE|+ 43,560|+ | 430 X MnE X
136\): 4l ER|+| (7 260)] (70x InEER)
15?))? =
=T 3 ®m R|+ 7,260 70xmnE=E|+| 50, 820|+ 500 x InEE|+ 43,560|+ | 430 X InE X
151\): 4l ER|+| (7 260)] (70x InEER)
18?))? =
=T 3 ®m R|+ 7,260 70xmnE=E|+| 50, 820|+|500x inEE|+ 43,560|+ | 430 X InE X
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27;\): 4l ER|+| (6 880)] (60 % MnELK)
300f =
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